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(a) 𝑓𝑓(0) = 0  
𝑓𝑓′(0) = 1 
𝑓𝑓′′(0) = −1                    
𝑓𝑓(3)(0) = 2                                                                  
𝑓𝑓(4)(0) = −6 
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(b) The series when x=1 is   1 − 1
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. This is the  

Alternating Harmonic series,  (−1)n+1

n
, which converges   

by the Alternating Series error bound. The  
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1: Derivatives 

1: first four non zero 
terms 

1: general term 

 

 

 
1: Determine convergence 
 

 

 

1: Correct explanation of 
why 

2: 



Harmonic, 1
n
 , diverges since n is raised to a power 

less than two. Thus, this series is conditionally  
convergent because the absolute value of the 
series does not converge, even though the series  
converges.  
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2: 

1 : stating that 

2: 

1 : general term 

1 : first four terms 
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